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with(plots); q\

[animate, animate3~ % Necurve, arrow, changecoords |
complexplot o ><$ xp’ ’d,conformal , conformal3d ,
contourp’ Y or S aordplot, coordplot3d , densityplot,
displr o X " xir //\""q;q* I 2ldplot3d , gradplot,

K 4 V
grN, > s Vx’v/x"v .icitplot, implicitplot3d, inequal ,

2" Vv rff /ﬁ btd ~N- s, intersectplot, listcontplot,
X

Vvoor s x® /'\,~Q?> wplot, listplot, listplot3d, loglogplot,

7 VAR 2 0
N Log AT 7 YV N. _wltiple, odeplot, pareto, plotcompare,
AU
Q poiny. ¥ > Q@\ ot3d , polarplot, polygonplot , polygonplot3d ,
%&0‘5 polyhedr.<® ported , polyhedraplot , rootlocus , semilogplot,

setcolors , setoptions , setoptions3d , spacecurve ,

sparsematrixplot , surfdata , textplot, textplot3d , tubeplot |
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> 24 3,2-3,ﬁ,sin( );
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solve(e.x) e 2 € & ableal U ables >

X Jogome

[soive(e.x)] > € ¢ DLl L Dl J>

N aEEEIS e X U

solve({e.....en}.{x1.....xn}) .entel ovslul L oVsles |

XN XT o e oo

solve({e1.....en,C},{x1 Lentel ovslwl b o¥sles Jo
—— C Elmssame 5 Ll 2

XN U XT oY e

solve(Vx+1-Jx—1=1);

solve((x—1)*(x-2)*(x-3) < 0);
RealRange (Open (2), Open (3)), RealRange ( — o, Open (1))

solve({(x-1)*(x-2)*(x-3) < 0});
{2<x,x<3}L{x<1}
:80Ive &b by X Jgemme b g,y 4w 4 dlolas >
solve(3x +x2=0);

solve(3x + ¥ =O,x);

solve(3x +x% =0, {x});

solfiws jo SYolee Jo

> el =x+2*y=1;
e2 == 3%x —y=2; x+2y=1
solve({el,e2});
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el =x+ 2%y —z=1;

€2 =3*x—y+z=2

el = 2%x — 4*)7 + 2*z=0;
solve ({el,e2,e3});

x+2y—z=1
3x—y+z=2
2x —4y+2z=0

> el =x+2%>-1;
el =3%x —y <2
solve({el,e2});
-1<x+2y
3x —y <2
3
<x,-2+3x<yp x<7,f
> f(x) ==x2+4x+3;
x—x> +4x+3
> f(1);

.O}J:u = o.))j" s".)l.‘x:.@jj )| J.Ja as 09.5 ) oolawl UT )‘ C)bwgs L)LS" LS‘JJ H#

1 (4);#for silve eq.
35

Ad oo Xacws:d xT+Hfa+y=- dols J>
solve(x2+4a+3,x);

V-4a—3,-J-4a—-3

solve(x2 +4a+ 3,0);
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g dtulys a5 (Jal b b5 X, Y e p o piie Wiz g Jstme 99 dolee g J>
solve(2x + y2 =0, {X,)’});

c=-Lo2
2)/5.)/ )/

solve({2x +y2 =0,x < Y}a {x,y});
{x: _%yzay < _2}: {x: _%yz'o <J/}

2,5 Jo 1) oo dix wilgs )0 Jogore polae 4 polas polie 6 AL L olgi oo Hews cpl b :Subs
subs(xZI,x2+4x+3);
8

subs (x =1l,y=-2,z= %,x-y2 —f—y-x2 + x-y-zzj;
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minimizs(f.x=a..b)
maximize(f,x=a..b)

minimize(f, i Ml s prmin g
maximize(f.x=a..b.location)

ol ;
& Al 2l L s
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mim’mize(Z-x3 — 9-x2 +12-x+ 1,x=1 ..20);

maximize(2-x3 — 932 + 12:x + Lx=1 ..20);

12641
C . 3 2 3 _ :
mmzmzze(Z-x —9-x" 4+ 12-x + 1,x =-1..20, location );

=22, {[{x= -1}, -22]}

A0l oo XZ-Y lil s jsSan o3l o aS cenl -TY b o

maximize(Z'x3 — 9.y? + 12-x + 1,x=-1..20, location );

12641, {[ {x =20}, 12641]}
Aol (o XTV e glil oS0 o3l o a5 el VYEFY &l poy 5SLe
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> plot(5x% + 3,x=-10..10, )
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x=b : x=a
f

| plot{f(x).x=a..b,y=c..d) = b
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LY - .
J S

- plet{[x(t)y(t)t=abl) | t=but=a j <k &L )

(dzal ) 2oy XD

S P

plot(f(x).x=a..b,y=c..d. bt gl 03 gume LT U o

| scaling=constrained)
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> plot[ sm)Ex) ,x=0..inﬁnity]

\Wakie

B> plor([x% 5 [, x=-1.1)

B> plot([, 2 x==1.1])
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x = cos (Yt) )
- S XS Yol yo y = sin (at) Srehl &b o)

> plot([cos(31),sin(5¢),t=0.27]) [ L S T o~ - i )
g : \
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plot( [xz, x3, x4], x=-2.2,y=0 ..2)
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> plot([[1,0], [0, 1], [-1,0], [0,-1], [1,0]])
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with(plots); sl oo SIS oo plots ans ol Sle )3

> with(plots);

[ animate, animate3d , animatecurve , arrow, changecoords ,
complexplot, complexplot3d , conformal , conformal3d ,
contourplot , contourplot3d , coordplot , coordplot3d , densityplot,
display, dualaxisplot , fieldplot, fieldplot3d , gradplot ,
gradplot3d , graphplot3d , implicitplot, implicitplot3d, inequal ,
interactive, interactiveparams , intersectplot, listcontplot,
listcontplot3d , listdensityplot, listplot, listplot3d, loglogplot,
logplot, matrixplot, multiple, odeplot, pareto, plotcompare,
pointplot, pointplot3d , polarplot, polygonplot , polygonplot3d ,
polyhedra_supported , polyhedraplot , rootlocus , semilogplot,
setcolors , setoptions , setoptions3d , spacecurve ,

sparsematrixplot , surfdata , textplot, textplot3d, ﬁzbep/ot ]
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a = plot(sin(x),x =-1.1) : ;/ 1 \\I{" \-\
b = plot(cos(x),x=-m..x) : / ‘#,f' ! ‘\x
display(a, b); ﬁ;# 051/ IHI. \H\
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with(plots );

arrow ([2, 5])

arrow([[1,2],[-1,1]])

S sla o)l o maple 80 o 5 5o
4 90,5 Ceuly SIS USS 55 Ol o0
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(1.3) =9 — 2% 457

£(1,2);
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> f:: unapp[y (m; x)y);

30 guiio > @193 o

! gt O ey

- -
| plot3d(f(x.y).x=a.b.y=c..d) .. s f...a .
et & _)JILEJ_-_M)Q@-"_-JJ

s 0013 2l 0B sdae B cia
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IELEATS S N

plot3d([x(r.s).y(r.s).z(r.s)]. il iy gany ds oy
r=a..b.s=c..d)

s = s L!qvnl? =T AT L

sT b sl s 4 US‘;J glo
9525 3l oS 46 an ) xS
TCA B N1 S O L e
Z:¥ X &l: hw 2AS 3N gl
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plot3d(f(x.y).x=a..b,y=c..d. RRPIIETIN JURYN AT Sy
labels=[*“X"."Y","Z"].
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> plot3d(Jo— 2 — % x=—1.1,y=-1.1)
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>with(plots);
> implicitplot3d(x*-v* + y° + x* + x> »*=0,x=-20..10,y =0..10, z
=0..10)

> implicitplot3d(x-z + y-In(z) = x>y, x ==20..20,y ==20..20,z ==20 10
.20)

J)a:ﬂ ‘slb )‘6503

-piSee ooliil animate g animateyd olygiws 5l gom dw g Gan 90 S e o loges 3l lp
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y = sin (x)
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> with(plots) 1 \ /\
> animate(sin(x-1),x=0.2m,¢t=1.4) /

0.5 l'
'!

1 2 3/ /j | 6/

05 / ’

IRV

L1V V

3lgs oo g (5,508 Ol s g @animation = play : vl s asS cl, SIS IS (g9, ¢ S5 &S > gy

AS asie Slaitue sl ygme sl b ol o axes — label L L g oies sl

leﬁd..sufu A».‘;Bl.})}‘f)}.}ﬁ'ame 4'?)'%""*‘56“@?"?‘) CJP N ONRSY VWA Q.l”.g:ﬁ'ame G

: animate(sin(x-1),x =0.2w, t=1..6, frames = 50)

sl ] |

-0.5 A

1 l

animateVd jgwd

>with(plots);
> animate3d (-x> + y°,x =-20..20,5 =-10..10,¢=1..10)

s
> animate3d (t-x* + 2, x ==20..20,y = 10..10, = 1 .10, axes %
\ //'
= normal , '
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O35 BLAI L iz w0 i ) ol o0 57 S8 (59, o5 Gled Wl (oo T iizmen 5 XY o3l o i b
animation = & sg, 50,5 ol S5 L L gcils punlys | Jloges moli sloil jo aves =normal oo s
Seil awsls 1, Framed L g Boxs sl 5,50 oVl> ol o axes

> animate3d( [t,y,z],y =—4.4,z=-4.4,t=-3.3)

39y o )55 e Ll B 1ol 5l o 03 sy (6l : aNiMAtecurve jgiws b

> animatecurve ( sin(x),x =0..2-m, color = green, thickness =2, frames

=50); .
0= T
1 2z 3 4 5 &
s |y S8 S8 5 lg e d9zee slalnl 5 S (59, 59,5 SLSTL &

> g:= mrimare(sin[!-_r),_r =-R.W =1 ..5];

PLOT(...) \
> b= a.'?fn.'are(cos[.f.-x),x =-n.mt=1 ..5);
PLOT(...)
> display ({a,b});
szl el jaiws o 5l ae (adaii g0) ¢ 3l oolaiul \ § ; I
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> a = animate3d(t-x*y,x=-10.5,y=0..10,¢t=1.5) :
> b= animate3d(t.y3x, x=1.5,y=-1.5,¢t=1 ..5) :
> display([a,b]);

oS ool wilgs o yloges 5o e ioled glp ygxws ool 5l dissplay s ] oS 5 g textplot jgiws jo LS

. The Sine Curve
a = plot(sin(x),x =-T.1) :

1 -
b: textplot( %, 1.1, Maximum ] :

c = textplot[ —%,—I.I,Mz’nimum ) :
display ([ a, b, c], title = "The Sine Curve');

Mivimeem
oS 00liiw] ouilg o (S dw Hlged 48 Cyie ialed sl ygiws opl 5l textplotYd g

239 g amio 30 1,18 9 o g 202

amio ;0 )15, 50 gex sl display jo o] CuS 5 5 AITOW g 5l eolazul

vl = arrow([5, 2], color = blue ) :

v2 = arrow( [5,2],[1, 4], color = blue ) :
s = arrow( [52]+ [1,4],color =red ) :
display ( vl,v2,s);

A e o2 a5 0 90 pa> @
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vl == arrow([2,-1,2] ) :

v2 == arrow([-2,4,1]) :

s == arrow([2,-1,2] + [ -2,4, 1], color =red ) :
display ( vi,v2,s);

s s 02 a5 10 90 re> @

vl == arrow([2,-1,2]) :
v2 = arrow([2,-1,2],[-2,4,1]) :
s = arrow([2,-1,2] + [ -2,4, 1], color = red) :
display ( vl,v2,s);
s e o2 a5 Jlo s g0z @

> with( plots ) :
with( LinearAlgebra ) :
a = (1,2,3);

b= (2,-1,2);

¢ = CrossProduct (a,b);

Sl

limit(f(x).x=a)

X=a ¢ i p»f(x) C‘U Bre

limit(f(x).x=a,left)
limit(f(x),x=a,right)

X=a

limit{f(x),x=infinity)
limit(f(x).x=-infinity)

.;:},bL-_CﬂL#@frbﬁf(x)@t'b
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s . 2x+3)
)= v s)
2x+ 3
XxX—>—
4x+5
> lim f(x)
x— 1
2
9
> . .
xl“fh/(x)
S
9
> lim f(x)
x— 1"
S
9
el S oy 1y S ST (90 50
>p10t(f(x),x=—5..5); 2SS ¥l 95¢ TP BE «+= HI1O0%s o Rax & B

.............

= T [l a ¢ #HH
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7 fl) = sin[%);

sin[ %j

> lim f(x) 1 -3

X —

> plot(f(x),x=-1.1);
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X"ty
2 — 32
(ry)=—5—73
x“+y
> limit(f (x,p), {x =0,y =0})
undefined

> plot3d(f(x,y),x=-10..10,y =-10..10)

10

> limit(x + %, {x=0,y=00}];

plot3d(x + JL),x =-5.5y= 0..100);

el g w»)loouwléaﬁjwoykjuwm

> l[mit( , {x :y})
y—x
undefined
S g 1 o .
limit , {x =y}, right
y—x
-
o 1
> limit ,Ax=y}, lefi
y—x
oo
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> with(Units| Natural |)

[, 4, 7, <, <=, <>, =09, R, Unit, ™, abs, add, arccos,
arccosh, arccot, arccoth, arccsc, arcesch, arcsec, arcsech, arcsin,
arcsinh, arctan, arctanh, argument, ceil, collect, combine,
conjugate , convert, cos, cosh, cot, coth, csc, csch, csgn, diff, eval,
evalc, evalr, exp, expand , factor, floor, frac, int, In, log log1(Q max,
min mul, normal, polar, root, round, sec, sech, seq, shake , sighum

simplify, sin, sinh, sqrt, surd, tan, tanh, trunc, type, verify |

> f(x,y) = X-arccos- (y - 1);
(x,y) —x arccos (y + Units:-Natural:--*(1))

>limit( f(x,y), {x=2,y=1})

2
> limit[2x—
x“+y
undefined
(? —x-p)
> limit) = 5——
( +57°)
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restart,

with(plots) :

setoptions ( thickness =2, axes = boxed , labels = [""""] ) :
f=x—->x"3+8:

a:=2:

Curve = plot( f(x),x=a-2..a + 2, color =black ) :

FixedPt := pointplot( [a, f(a)], symbol = circle,

symbolsize = 14, color =red ) :

h=t—>1-t:

RightSecants = animate( (f(a + h(t))—f(a))/h(t)*(x-a) +
fla),x=a-2.a+ 2,t=0..0.99, color = blue, frames =50 ) :
LefiSecants = animate( (f(a-h(t))=f(a))/(-h(?))*(x-a) +
fla),x=a-2.a + 2,t=0..0.99, color = blue, frames =50 ) :
display ( Curve, FixedPt, RightSecants , LeftSecants );

restart,
s 1) S8 OS5 Gl oo S9se sbalnl 9 USKS 59, 05 S L L

D

D(T) f ot 0

diff(f(x).x) X dy o ) s 220

L

diff(f(x).x$n) X o e f(X) o 320 o

implicitdiff(f,y.x) fo e L sl s dy/dx
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solatul EXPression cuad 5l asl p oo Cooms 10 35290 sla,lnl 5l g o 358 Jgoz 50 Ol ygiws jl eolaiwl sl 4
o,

0
> 5y (tan(x))

1+ tan(x)2

(G5 o (5030 0957 (27D Z 41 s S 3 Y &2 o L0 5 X & i o 5 0ot s b 20

> flx,p,z) = x>y sinz + &
(x,y,2) —x? y2 sinz + &7
0
-~ f(x,,2)
0x

3 x? yz sinz

0
a—yf(x,y, z)

3 . vz
2x’ ysinz+ze

0
Ef(x,yﬁ)

\ 4
ye

oS o oolizwl Implicitdiff jgws 5 e Griw sl

aled oy 50 1y 0T S5 9 5l Coms 1) (o @l Gidia
> fx,y) = X2 —i—yzzl
(x,y) — Units:-Natural :-*= ‘(xz + yz, 1)

> implicitdiff (f(x,y),y,x)
X

y
b e o5 (50 6,135,101, PIOLS & gy o asluliS” ooy atiS M3 oS jshailon o @l sm dw JS& pns 5 (51
oS oo oy |y @b Implicityplotyd jgiws

> with(plots) :
> [mplicitplot.?d(xz + y2 =1,x=0.2,y=-2.2,z=-2 ..2)
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with( student ) :

Rectangles = seq( Zeftbox( X Hx+ Lx=0.3,3%; ),
i=2.60):

with( plots ) :

display ( Rectangles , insequence = true );

o 1y S8 08 2 plgs (oo s9z e sajlnl 9 K3 (59, o5 SASTL

)

An Approdmation of the Integral of
£3) = 2244
on the [nterval [0, 3]
Using a Right-endpaint Riemann Sum

with( Student [ Calculusl | ) : Ll
fi=x 2> x2+x+1; ]
a = 0;

b :=3;

RiemannSum( f (x),x = a ..b, method = right, partition = 6,
output = animation );

x—>x2+x+1
0
3

s 1y JS8 8 > plgs (oo s9z e slajlpl 9 S35, o5 SASTL

Partitions: 6

Bl Gl s

int(f(x).x=a..b) blajf(x) L 0 5l

(2l o elyg g uuly sbLa

-

changevar(g(x)=u,
Int(f(x),x).

u) J.f(x')(fxﬁ AX)=U e i

Lk kS (6 Ay & g LSS

s oo u - v
W& e A ) D o _Jl M e

with(student)

N B )

intparts(Int(f(x)*g(x).x).f(x)) I Sl

(=

g5

- A - B a
LS i S A i E L

X j.f (x)g(x)dx 5

g(x)dx=dv ; f(x)=u

& dm by g cpl Ol e s

with(student)
|




o932 5l ;5% sledlee

(ax+b)"+1
an+1)

1

18
52 (3x+5)

3x + 2
((3x+2)2)

1/3
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Examples
> with(Student [ Calculusl |) :

> infolevel [ Student [ Calculusl 1] :=1:




> Hint((4.1))

Creating problem #)

[sum]

>
Rule , (4.1))

.2)(

(—{(xz—l-x):i(xz)-l-
dx dx

> 'A'sin(x) dx

A"x sin(x) dx

> Hint( (4.4))
Creating problem #Y

[ parts, x, —cos(x) |

Ruh%4.5)((4.4))

x sin(x) dx = -x cos(x) — ( "( —cos(x)) (b()

If the first reference to a problem is as the expr argument to Hint, you must use GetProblem to
retrieve the problem to pass to Rule.

> Hinr( lim xln(x))

x—0
Creating problem #Y

[lhopital,, In(x) |
> Ruk%4 ﬂ(Geﬂ%vbkwﬂhnmwaH)

lim xIn(x)= lim (-x)
x—0 x—0

> i_______(h
G+ JA it

4

(t+ 1) JP+t+1

> Hint( (4.9))

dt

Creating problem #¢
Hints:

V. Convert the rational part of the integrand to partial fractions and
split integrand into a sum of simpler expressions.

Y. Complete the square and make a change of variable.
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t _
G+ DA +i+1 2 ++1

— ! , |change ,u =t +

(t+ )2 +e+1

>
Rule(4.10)z( (4.9))

rewrite,

—,u

2

Applying substitution t = u-)/Y with dt=du
¢ dt_J 2(2u—1) »

(t+ 1) VP +t+1 Jau> +3 (1+2u)

If the operation type is ambiguous, Maple returns an error

> H,-m([ [+ o (xZ)jdxj

dx

Error, (in Student:-Calculus):-Hint) unable to determine which calculus
operation is being applied in this problem; you can provide this
information as the Ynd argument on your call to Rule or Hint

> Hint[.’(x + % (xz)) dx,DW)

Creating problem #o

[ power |

Examples

1
> simplg'fj/(4? + 3)
5
> Simplify(e” +ne ec))
et

> simplify(sin(x)2 + In(2x) + cos(x)z)

1 4+ In(2) + In(x)
> simphﬁz(sin(x)2 + In(2 x) + cos(x)z, trig)

I+ In(2x)

> simpl;’]fj/<fJx_2 , assume = positive)
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maple ;i o558 uslgd g Ol ygiwd

Pl

Sl

abs(x)

X Llde U dds sae e 03

sqrt(x)

X A dae pgd oty

exp(x)

x
e &LJ@U

n ., =su

In(x)

€.l »X ,.:.__,L{T

log(x)

@ ul X o &

log[n](x)

nql,'ﬁxl.:.ulil

log10(x)

10 AJ__L;J:XP:,_J@I

sin(x),cos(x).tan(x),cot(x)

J,.uJL*.EJ@l,:

arcsin(x),arccos(x),
arctan(x).arccot(x)

U:L'.J'"" bw,i’.’ c;l})'

sinh(x),cosh(x),
tanh(x),coth(x)

Sl sl

binomial(n,m)

s ol 3 M Lol sluas

floor(x)

X ettt

frac(x)

X £ S

ceil(x)
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Sl o

plOt(f(X),X:ﬂ--b,y=c__d, 9 Ju ) -\5 f GU wl.’ua =2
discont=true)

od NG SIS 5 LE aiie

plot(f(x).x=a..b,y=c..d, oA s
title=""Plot of a Function™)

Flot of a Function
s A ) ',:..uL'v' J‘SL: »

3l Sjle o NG O ls sl &)
(a8 pBula ol 4 pa |y £ Ko

plot([f1(x).f2(x),....fn{x]]. L P, £3.02f1 8o )
x=a..b,y=c..d)

. f‘
sAl yamlie gopime ) olSnld

b B0 us Jslail L)

ot ol o YL 5 af 3l e

(25 R sl

G w2l 03 5
25l &) Sl wa U s
Hos gl poos Sl 4 S aa s

5 a5 b1, ?simplify o L

(23 jlzs |, Enter s

<l ool w dditto) ceds !
585 ookl Jase 53 st alowe
EYC P R ) E R
s A S ool el sl )
2% % ce=ols 3 a1 b bl
(oS o o0l % % %
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plot([[a.b].[c.d].....[e.f]])

(e.f),..(c.d)(a.b) L& Ji

.‘.'-" s <.s(.a.

et et S

plot([[a.b].[c.d].....[e.T]].

- style=point)

RS T Yo ooy amio

plot([F1(x).T2(x).....fn(x)].
x=a..b,y=c..d,style=point,

plot([f1(x).f2(x).....fn(x)].
x=a..h.y=c..d.style=point.
symbol=cross)

| symbol=circie}

& ovsime pINUTL oo 0

Ll als ol dsl Lsmwn -
L pod oamwd 5 $hoaly slea?

WS Ay Sk 2 Slge

plot([f1(x).f2(x),....fn(x)],
x=a..b,y=c..d,
color=[c1.c2.....cn] .
thickness=[t1.t2.....tn])

< ovsame N e
301 . 8,0 aU s oat S
MY IPSEINT | B & ROWE
tn —--2 s cn
Sawd pb slusl Lpals —
3 Q:L ShE s e I
thickness _ color ol .

(3.8 oalazl

display( [f1,f2.....fn])

ole )

B8 uba s U o5

wl_}flid:},m).ula.ﬁub
G f1 c..l'.:ﬁs::.:,“,-o:&:,,.l_‘,'-

s o3l s Lol L) 2 f
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plot3d([f1(x.y),....fn(x,y)].x=a..b,
y=c..d,color=[c1....,c2])

_,.sfl‘l B | & ot 3 c-'l-’:?'""-)

senb el (5L o

< adl) sal jakie b 0djame

(5.3 skl color = 5 ol

o D anwd (310 3 e ol

.h,.'-';,L‘f: Slaime o o aie 4
Hoad )y 5 o) Al oxul (205
ot o3l O 2y s 5 K2 03,
24
M sl & S K e ol L
Sla st N 5 Uyl e o) 4

sk ol pay et

plot3d(f(x.y).x=a..b.y=c..d.
shading=none.
liahtmodel=liaht1)

S 5 035 A | K8 K
el
BUSACRPPY § o] o [-REYCARp PO
Z XY XYZ S jgna ) SN
-zl zhue ; zgrayscale
B 5
Jols elight [zos b o
light3 light2 =i,
3 S sl lightd
T YCWE N - Ui - B P
lightmodel ; shading

2.5 ooliul
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